CHANGE ALL THE CODES TO AVOID PLAGIARISM :-

1.Harold and his
homework:

NOTE: Here, m=input2
d=input3

2.Halindrome:

(change it as per the question)
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def ispal(s):
rev = ''.join(reversed(s))
if s:=— Tev:
return True
return False

def ishal(s):
if len(s)<2:
return False
if len(s) == 2 and not ispal(s):
return False
if len{s)>=2 and ispal(s):
return True
glse:
if(len(s)>=4):
sl = s[0:1en(s)//2]
s2 = s[{len(s)//2)+1:] if len(s)}%2 '= 0 else s[len(s)//2:]
if ishal(sl) or ishal(s2):
return True

int (input())
list(input{) .split(","))
1]
for i in range({n):
if ishal{a[il):
ct+=1
print(c)

w
[

Abraham :

n=int(input())
=0
while n/2>=1:
c+=1
n=n/2
if(n==2):
a=(2*(2**c))-1
else:
a=(2**c}-1
print(a)

//Abraham in python ..,

Planting Trees:
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n=int(input())
k=int(input())

trees=[2]

for i in range(n):
trees_planted=list(range(0,(trees.pop(0)+ 1)%k))
trees+=trees_planted

#print(trees)

if len(trees)==0:
print(1)

else:
print(len(trees))

Frequency co:
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Monica and flavours some errors:

Social Network
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1
2 rSOCIAL NETWORK
3
4 print("Enter Range:",end=" ")
5 n=int(input())
6 a=[]
7
8 a=list(range(n+1))
9 for i in range(2,int(n**(1/2))+1):
10 s=0
11 if(il=-1):
12 k=0
13 f=1
14 while(f):
15 5=i*(i+k)
16 if(s<n+l):
17 alsl=l
18 k=k+1
19 else:
29 f:B
21 c=0
22\ for i in a[2:]:
23 g
24 c=c+1
25

Shell

> 7

Enter Range: 10
Total: 3

LCS with Vowels

str1 = input()
str2 = input ()
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vowels = 'aeiou’
cl=c2=0
for ch in str1:
if ch in vowels:
cl+=1
for ch in str2:
if ch in vowels:
c2+=1
print(min(c1,c2))

Longest palindromic subsequence

© smallestsequithgivenprimesib.cpp L ——

G "'"""""""'""“w
x
helloworld > DynamicProgramming » € hngulpimlmiﬂhzqmq,p > lenaflongestpalindromicsubseqistring, [maxima]
1 #include cbits/stdcs+.hs gt

e stdy

#define maxima 1005
.‘ -i-ut lemﬂmgestpalj:ﬂmdcnhseq(string A,int start,int end,int dp[ ][maxima])

//couteca]start]<<” “<calend]<<end];

if(start>end)
return @;

if(start=end)
return 13

if(dp[start][end]1=-1)
return dp[start][end];

if (Al start]==A[end])

-

L
dp[ start][ end]=2+lenoflongestpal indromi csubseq(A, start+1,end-1
return dp[start][end];

else

dp[start][end]-max(lenof longestpal indromicsubseq(A, start+1,end, dp) , lenoflongestpal indromicsubseq(a, start ,end-1,dp) ) ;
return dp[start][end];

}
t main()

string A
[0 H
m=A.size();
dp[w][maxins e
memset (dp,-1,5i7ect -1
(M.((lm!lmtpumm{l,s,n—l,wym;

return 8;

Bob and Numbers
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n = int(input())

a = list(map(int,input().split()))

c=0

for i in range(n-1):

for j in range(i+1:n):
s1 = sum(list(map(int,bin(i)[2:].split())))
s2 = sum(list(map(int,bin(j)[2:].split())))
if s1 == s2:
c+=1
print(c

apple orchard solution

Sort the array .

Initialize a max =0

iterate a loop on sorted array.
suppose sorted arr[] ={48,80,82}

now iterate
for (inti=0;i<n;i++)
{

int temp = arr[i] * (n-i+1);
if (temp > max)
{

max = temp;

}
} I/ end of for loop
Print(max)

New----

n = int(input())

| = list(map(int,input().split()))
res = min(l)*n

print(res)
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Evaluate a given infix expression

Use eval() in python
Python =

>>> eval("2 ** 8")

256

>>> eval("1024 + 1024")

2048

>>> eval("sum([8, 16, 32])")
56

>>> x = 100

>>> eval("x * 2")

200

Maximum subarray

def maxSubArray(self, nums: List[int]) -> int:
max_sub_sum =0
prev_max =0
for num in nums:
prev_max = max(prev_max + num, num)
max_sub_sum = max(prev_max, max_sub_sum)

#if max is 0 and 0 not in list it means that there is no num in subarray, so we choose max num from list
if max_sub_sum is 0 and 0 not in nums:

max_sub_sum = max(nums)

return max_sub_sum
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MOVING APPLES
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NEXT GENERATOR NUMBER

class Solution {
public int[] nextGreaterElements(int[] nums) {
int[] output=new int[nums.length];
int n=nums.length;
Arrays fill(output,-1);
Stack<Integer> stk=new Stack();

for(int i=0;i<n*2;i++){
while(!stk.isEmpty() && nums[stk.peek()]<nums[i%n])}{

output[stk.pop()]=nums[i%n];
}

if(i<n) stk.push(i);

}

return output;

Selective arrangements


https://t.me/studymaterial_IT

CHANGE ALL THE CODES TO AVOID PLAGIARISM :-

# Read only region start
class UserMainCode(object):
@classmethod

def arrangements(cls, inputi):

inputl : int

: Expected return type & int
16 Lid

11 # Read only region end

1?2 # Write code here

i aprp=[0 for i in range(inputi+1)] =
15 arr[@]=]
aw-r'[ilz_'
arr[2]=1
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Permutation combination

1229 O = 4 - Q=0 32% =

< 3163 0of 3214 ~>

€ FYTHON3I~ Compiler : Python 3.6

B WLLE COUE e v
factoriall=1
factorial2=1
factorial3=1
if inputi==e:

_”-i factoriali=1

_else:

i | T ¥
. For 1.in range(1,inputi+1):

Permutation and combination

fpwca Viqesn
Wortitat, 51, M

m
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Abraham:

n=int(input())

a= {i:i for i in range(n)}
#print(a)
while(len(a)>1):
=]
foriin range(0,len(a),2):
l.append(i)
#print('I=",1)
foriinl:
a.pop(i)
#print(i)
#print(a)
counter=0
d1={}
foriin a:
key=i
val=ali]
#a.pop(key)
d1[counter]=val
counter+=1
#print(a)
a=dict(d1)
#print(a)
#input()
print(a[0])
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Think a number:
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